

ひっさん

■ 筆算でしましょう。

$$\begin{array}{r} 43 \\ + 29 \\ \hline \end{array}$$

$$\begin{array}{r} 37 \\ + 15 \\ \hline \end{array}$$

$$\begin{array}{r} 29 \\ + 62 \\ \hline \end{array}$$

$$\begin{array}{r} 73 \\ + 19 \\ \hline \end{array}$$

$$\begin{array}{r} 53 \\ + 17 \\ \hline \end{array}$$

$$\begin{array}{r} 62 \\ + 18 \\ \hline \end{array}$$

$$\begin{array}{r} 24 \\ + 17 \\ \hline \end{array}$$

$$\begin{array}{r} 16 \\ + 79 \\ \hline \end{array}$$

$$\begin{array}{r} 68 \\ + 13 \\ \hline \end{array}$$

$$\begin{array}{r} 61 \\ + 19 \\ \hline \end{array}$$

$$\begin{array}{r} 35 \\ + 47 \\ \hline \end{array}$$

$$\begin{array}{r} 66 \\ + 27 \\ \hline \end{array}$$

ひっさん

■ 筆算でしましょう。

$$60 - 48$$

$$77 - 49$$

$$50 - 37$$

$$62 - 27$$

$$43 - 36$$

けいさん

■ 計算をしましょう。

$$7 \times 5 =$$

$$8 \times 4 =$$

$$6 \times 2 =$$

$$3 \times 3 =$$

$$2 \times 3 =$$

$$2 \times 5 =$$

$$8 \times 7 =$$

$$6 \times 5 =$$

$$5 \times 6 =$$

$$9 \times 9 =$$

$$4 \times 1 =$$

$$4 \times 5 =$$

$$7 \times 9 =$$

$$9 \times 5 =$$

$$3 \times 9 =$$

$$7 \times 8 =$$

$$4 \times 6 =$$

$$6 \times 4 =$$

$$8 \times 1 =$$

$$3 \times 7 =$$

$$5 \times 7 =$$

$$9 \times 7 =$$

$$6 \times 9 =$$

$$4 \times 2 =$$

$$7 \times 2 =$$

$$5 \times 5 =$$

$$4 \times 4 =$$

$$8 \times 2 =$$

$$4 \times 8 =$$

$$9 \times 4 =$$

$$7 \times 7 =$$

$$7 \times 4 =$$

$$3 \times 8 =$$

$$3 \times 1 =$$

$$4 \times 3 =$$

$$8 \times 5 =$$

$$6 \times 3 =$$

$$2 \times 9 =$$

$$8 \times 6 =$$

$$8 \times 8 =$$

$$2 \times 2 =$$

$$7 \times 3 =$$

$$9 \times 6 =$$

$$3 \times 6 =$$

$$9 \times 3 =$$

$$9 \times 2 =$$

$$2 \times 6 =$$

$$6 \times 6 =$$

$$7 \times 6 =$$

$$5 \times 4 =$$

かず か

■ □にあてはまる数を書きましょう。

$$9\text{L} - 8\text{L} = \square \text{L}$$

$$7\text{L}2\text{dL} - 2\text{dL} = \square \text{L}$$

$$5\text{L}4\text{dL} - 1\text{L} = \square \text{L} \square \text{dL}$$

$$3\text{L}2\text{dL} + 4\text{dL} = \square \text{L} \square \text{dL}$$

$$6\text{L} - 5\text{L}3\text{dL} = \square \text{dL}$$

$$500\text{mL} - 400\text{mL} = \square \text{mL}$$

$$6\text{L} - 4\text{dL} = \square \text{L} \square \text{dL}$$

$$6\text{L}9\text{dL} - 5\text{dL} = \square \text{L} \square \text{dL}$$